
������������������������������������
��

��


	�������� 
���������������������������������������������������������������������������

��


	��������
��������
�	����	�
�	�
	 �
	��­���

�	�­�	��­���
��
�
�	��	��	� ����
���
�­������	������
�������������������������������������
��������������������������������������������
����
�
��	��������������������������������������������
�������������������������������������������������������������������������
�����

���������������
����������������������������������


�­��
�­���­���­������ 	���
���
��	
����������������������������������������������������������������������������������������������������������������
�����������������������������������������������������������



���	�
���������������������������������������������� �������������
�������������������������
�­����������������������
�����
���������������������������������������������������������������
�	������������������������������������������������
��
�������������������������������������������
�������������������������������������������
�����������������������
�������
������������������������������������������������������������������������������������������������������������������
������������������������������������
�

�����������������������������������������������������������������������������������������������������������������
��������� ��� ���
���� ���� ������� ����� �������������� ���� ��� ����������� ��
� ����� ��� ��������� ��� ��������� ���� ���������
���������
�

����������������������������������������
���
������������������������������������������������������������������������
������
�����������������
�
�����������������������������������������������������������������
�����������������

����­�����­

�­��
	����������������������������������������������������������������������������������������������������������������������
���������


��������������������������������������������������������������������������������������������������������������������
���� ������� ����������� ���� ������������ ����
� ������ �������� ���� ���� ���� �������� ���� ����������� ���� ������ ����� ����
������������������������������������������������������������������������������������������
�	����������������������
����������������������������������������������
�����������������������������
�

���������������������������������������������������������������������������������������������������������������������
������������������������	�����������������������������������������������������������������������������������������
��������

2mm Drill bit

	���������������������������������
�����������������������������������

������������������������
���������������������

­�������������������������
���
�����������������������
���������������������������
���������������������


���
�­�
�
����� �����������������������������
���������������������������������������
�����������������������������������������������
������
��������������������
����������������
���
�����������������������������������������
������


­��������������������������
�����������������������������
����������������
��������
���������
��������


�������������������������������������������
������


��������
���������������������
��������������������������
������������


�����������������������
�������������������
���
���������������������������������������
���������


��������
����������
����

��������
�
�����
������

��������������� ������
����������������
���������������������
����������������
��������������


x2

REGISTER FOR YOUR

ANTI-ROT
GUARANTEE TODAY

PLEASE SCAN HERE:

Pressure Treated Timber

Your product has been pressure treated.

Pressure treating is a chemical process which helps to protect wood against adverse weather which could 
lead to rot or insect damage.

The most common chemicals used to pressure treat wood are Alkaline Copper Quaternary (ACQ), 
Copper Azole (CA), and Micronized Copper Quaternary (MCQ).

Safety: Always wear gloves, eye protection and a dust mask when handling wood. Due to chemicals in 
pressure treated wood, never burn its sawdust or scraps; instead dispose in a land�ll.

��������������������������������������������������������������������������������������
����������������������������������������

��������������
�����������������
�������­��
������
��������
�����������������
��������



��


	�������� 
���������������������������������������������������������������������������

������������������������������������
��

�­
	�
­� ­����


­���������������������������������������������������������������������������

����������������������������������������������
����������
	���������������������������

��������������������������
�������������������������������������������������������


������������
������������������������


������������
�������������������������������������������������������
�����
��������	�����������������������������������

���������������������������������������
����	���

�������������������������������������������������������������������������


���������������������������������������


�����������������������������������������������������������������������������������


��������������������������������������������������
�	����

������������������������������������������������������������������


�������������������������������������������������������
��������������
������������������

	���
�	�
����


������
������
­�����������������
��
�����
�������������
�����������������������������
������������
��������
���������
��
�������������
��������������������������
����������
���
��
����������­���	������������
	����­����������������
�������	������������������������
����������������������
��������������������������

�		 �	�
�����

­�


�����������������������������������������������������
�������������������������������������������������������
������������
�

���������
�������������
����������������������������������
������������������������������������������


��������
�����������
��������������������
��
��������������

��
�����������­������
������
�����������
������������
��
���

��������������������������������������������������������
������������������������������������������������
�������


ANY QUESTIONS?
Scan the QR code to 
contact us via our customer 
portal.

PLEASE SCAN HERE:



������������������������������������
��


���������������������������������������������������������������������������

Before assembly  
please make sure you have a 

suitable base ready to erect your 
building 

 

MADE IN GREAT BRITAIN

Overall Dimensions:
Width = 4514mm 
Depth = 4500mm 
Height = 2360mm

Base Dimensions: 
Width = 4000mm 
Depth = 4000mm 

Contents:

Corner Upright Post - 95x95x2300mm QTY 4
PI-14-0311 (2 x 40mm notch cut out)

Cross Beam A - 40x120x4500mm QTY 2
F40120-AE-4500mm (8 x notches)

Cross Beam B - 40x120x4514mm QTY 8
F40120-AE-4514mm (2 x notches)

Corner Brace - 40x120x600mm QTY 16
F40120-G-600mm (2 x 45 degree angled cuts)

Cover Strip - 12x95x300mm QTY 32
S1295-G-300mm (1 x 45 degree angled cut)

3

1

4

5

6

30mm Screw x 64

80mm Screw x 48

150mm Screw x 64

Screw Pack:

Central Upright Post - 95x95x2300mm QTY 4
PI-14-0311 (40x95mm notch cut out)

2

If you have purchased any panels or rails with your Pergola, please follow the instructions to assemble 
the Pergola and refer to the ‘Panels and Rails’ instructions when relevant. 

Panels and Rails.

2m Rails:

7

Framed Rail - 120x1857x804mm
12PTFRMRWC1857X804-V1

8

2m Panels:

10

Panel with Cap - 120x1857x1136mm 
12PTFBPWC1857x1136-V1

11

Horizontal Strip Rail - 120x1857x804mm
12PTHRZSTRWC1857X804-V1

9

Panel - 120x1857x1120mm 
12PTFBP1857x1120-V1

Vertical Strip Rail - 120x1857x804mm
12PTVRTSTRWC1857X804-V1



������������������������������������
��


���������������������������������������������������������������������������

Anchoring techniques.
To ensure the longevity and structural integrity of your Pergola, the posts need to be securely and safely anchored to 
the ground / your chosen base.

The technique you choose to use will depend largely on what type of base you have, ensure to research and check 
which base is most suitable for you before beginning construction.

Pre-Assembly.

Some techniques may include:

Anchoring to the ground:

Important note: 
These techniques are just guides and may not apply to your building area. The techniques required will depend on 
your individual base conditions and needs. 

Please note that we do not include any anchors, footings or ground �xings with this product due to base 
materials and conditions varying from customer to customer.

Please ensure to check your own base conditions and if you are unsure on the �xings you require, then we 
recommend that you consult with your local building merchant or a knowledgeable DIY store before beginning 
assembly.

Anchoring to a deck:

Metal  L-brackets - Secure the 
L-bracket to the foot of the 
post and then into the patio. 

Steel post support - dig hole, 
secure support post to 
upright post, insert into hole 
and �ll with concrete. Cover 
with slabs, pebbles etc.

Ground screws - Upright posts 
secures to the end of the 
anchor and then twist into the 
ground like a screw.

Concrete footing - dig holes in 
the ground, secure steel 
support post to upright post,  
pour concrete into hole, insert 
post, some concrete left above 
ground to �nish. 

Metal  L-brackets - Use metal 
L-Brackets to secure the 
upright posts to the decking 
beams.

Anchoring to a patio:

Steel post support - dig hole, 
secure support post to upright 
post, insert into hole and �ll 
with concrete. Cut patio slabs 
around to cover/�nish.

Metal footing anchor - drill a 
hole at the centre of where the 
post will be placed, attach the 
anchor to the patio and tighten. 
Screw the post into the anchor. 

Layout Inspiration.
The rails and panels can be arranged in a variety of di�erent con�gurations. See below for some potential 
layouts. Please decide which way you want to arrange your panels and rails before beginning assembly. 



������������������������������������
��


���������������������������������������������������������������������������

Step 1
Before beginning assembly make sure 
you have chosen the base type and 
anchoring method that is most suitable 
for you, see page 4 for guidance. 

On your base, mark out the positions of 
where the upright posts will be anchored. 
Ensure to measure so the posts will sit with 
4000mm between the outside faces of the 
outermost posts and 1868mm between 
the inside faces of each post. 

Ensure to measure the positions accurately 
and mark clearly, for example with 
washable paint, stickers, string, spare 
timber etc. 

Ensure your measurements are square by 
measuring from corner to corner for each 
post, as shown. If the measurements are 
the same, then the layout is square.

Do not anchor or �x the posts at this 
stage, only mark out positions.

4000mm

4000mm

4000mm4000mm

1857.5mm

1857.5mm

1857.5mm

1857.5mm

1857.5mm

1857.5mm

1857.5mm

1857.5mm

Step 2
Parts Needed - No. 1 QTY 4
                                 No. 2 QTY 4

Using the anchoring method that is most 
suitable for your base, if you have not yet 
�gured out an anchoring method, please 
see page 4 for a guide, anchor the four 
corner upright posts (No.1) and the four 
central upright posts (No.2) into the 
marked positions. 

Ensure that the notches in the tops of 
the posts are the correct way round, as 
shown. 

Use a spirit level to ensure the posts are 
straight vertically and are �at and level at 
the tops.

Once anchored, use the same method as 
in step one to ensure they are square and 
at the correct distances. 

IMPORTANT: Pre-drill before �xing screws.

1

1

1

1

2

2

2

2



������������������������������������
��


���������������������������������������������������������������������������

Step 3
Parts Needed - No. 3 QTY 2

Once the upright posts are anchored, 
the rest of the Pergola can be 
constructed.

Position the Cross Beam A’s (No.3) on 
top of the upright posts (No.1 & 2) 
on either side of the Pergola, 
ensuring they are �ush against the 
cut out notches and are equally 
spaced between the posts.

There should be approximately 
250mm between the end of the 
beam and the outside face of the 
posts, as shown.

Once positioned, �x the Cross Beam 
A’s (No.3) to the corner upright posts 
(No.1) using 2x80mm screws per 
end, ensure to go through the beams 
notches into the post below. 

Secure the cross beams to the 
Central upright posts (No.2) using 
2x80mm screws per post, going 
through the post notch into the 
beam, as shown.

12x80mm screws. 

IMPORTANT: Pre-drill before �xing screws.

80mm 
screwPre drill 

hole

3

3

1

1

1

1

3

1
250mm

2

2

3

2

Step 4
Parts Needed - No. 4 QTY 2

Locate the Cross Beam B’s (No.4) into 
the end notches of the Cross Beam 
A’s (No.3) on either side of the 
Pergola, ensuring they are �ush 
against the cut out notches on the 
upright posts.

Once positioned, �x the Cross Beam 
B’s (No.4) to the Cross Beam A’s 
(No.3) using 2x80mm screws per 
notch, ensure to go through the 
notches into beam below.

Secure the cross beams to the Central 
upright posts (No.2) using 2x80mm 
screws per post, going through the 
post notch into the beam, as shown.

12x80mm screws. 

IMPORTANT: Pre-drill before �xing screws.

80mm 
screwPre drill 

hole
Rubber Mallet 

may be required 
to �t parts.

4

3

4

1

4

2

4

2

2

3




���������������������������������������������������������������������������

������������������������������������
��

Step 5
Parts Needed - No. 4 QTY 6

Locate the remaining six Cross Beam B’s 
(No.4) into the central notches of the 
Cross Beam A’s (No.3), across the pergola.

Once positioned, �x the Cross Beam B’s 
(No.4) to the Cross Beam A’s (No.3) using 
2x80mm screws per notch, ensure to go 
through the notches into beam below.

24x80mm screws. 

IMPORTANT: Pre-drill before �xing screws.

80mm 
screwPre drill 

hole

Rubber Mallet 
may be required 

to �t parts.

3

4

3

4 4
4

3

4

4
4

Step 6
Parts Needed - No. 5 QTY 16

Locate one Corner Brace (No.5) �ush 
to the side of the Upright Post (No.1 
or 2) and the underside of the Cross 
Beam above, as shown. Ensure the 
Corner Brace is Flush to the outside of 
the Upright post and the Cross beam. 

Once positioned, �x the Corner Brace 
(No.5) to the Upright Post and Cross 
Beam using 2x150mm screw per side.

Repeat this method to �x two corner 
braces to each upright post, as 
shown.

64x150mm screws. 

IMPORTANT: Pre-drill before �xing screws.

150mm 
screwPre drill 

hole

5

5

5

5

5
5

5

5 5
55

5
5

55

5
5

Step 7
Parts Needed - No. 6 QTY 32

Position the Cover Strips (No.6) �ush 
to the bottom of the Upright Posts 
(No.1 & 2) ensuring they are �ush to 
the sides of the posts and the base. 

Fix the Cover Strips (No.6) to the 
Upright Post using 2x30mm screws 
per strip.

Use four strips per post, as shown.

64x30mm screws. 

IMPORTANT: Pre-drill before �xing screws.

30mm 
screwPre drill 

hole

6 6 6

6

6 6

6 6

6 6

6 6

6 6

6 6

6 6

It is ESSENTIAL that you apply wood 
treatment immediately after the product 

has been assembled.




���������������������������������������������������������������������������

������������������������������������
��

If you have purchased any panels, please refer to the next 
steps for assembly. 

If you have purchased any rails, please refer to Step 11 on 
page 10 for assembly. 

Panel and Rail Assembly.

If you have purchased any panel or rails with your pergola, please follow the below instructions to assemble 
onto your pergola

Panel with Cap.
Step 8
Parts Needed - No. 10 

Before assembling please decide 
where you want your panels to be 
positioned. 

Locate the Panel (No.10) �ush up 
to the inside edge of the corner 
post next to where you want the 
panel to sit. 

Ensure the panel is positioned 
centrally to the posts and is �ush 
to the inside face and the base. 

Secure in place using 5x80mm 
screws per side, screwing at an 
angle alternating through the 
panel into the post and through 
the post into the panel, as shown.

Ensure to secure from the outside of 
the pergola so the screws aren’t 
visible from the inside.  

If you have multiple panels, use 
the same method to locate and 
secure them in place. 

10x80mm screws per panel. 

IMPORTANT: Pre-drill before �xing screws.

10

10

80mm 
screwPre drill 

hole




���������������������������������������������������������������������������

������������������������������������
��

Full Panel.
Step 9
Parts Needed - No. 11

Before assembling please decide 
where you want your panels to be 
positioned. 

Locate the Panel (No.11) �ush up 
to the inside edge of the corner 
post next to where you want the 
panel to sit. 

Ensure the panel is positioned 
centrally to the posts and is �ush 
to the inside face and the base. 

Secure in place using 5x80mm 
screws per side, screwing at an 
angle alternating through the 
panel into the post and through 
the post into the panel, as shown.

Ensure to secure from the outside of 
the pergola so the screws aren’t 
visible from the inside.   

1x80mm screws per panel. 

IMPORTANT: Pre-drill before �xing screws.

11

11

80mm 
screwPre drill 

hole

Step 10
Parts Needed - No. 11

Locate the second Panel (No.11) 
on top of the previously secured 
panel, ensuring the faces and 
sides are �ush. 

Secure to the posts using 
5x80mm screws per side, 
screwing at an angle alternating 
through the panel into the post 
and through the post into the 
panel, as shown.

Fix to the panel below using 
4x80mm screws, screwing at an 
angle in an alternating pattern. 

Please note: The Corner braces 
(No.4) may need to be unscrewed 
and re-attached to the outside of 
the posts.

Ensure to secure from the outside of 
the pergola so the screws aren’t 
visible from the inside.  

If you have multiple panels, use 
the same method as in Steps 9 & 
10 to locate and secure them in 
place.  

14x80mm screws per panel. 

IMPORTANT: Pre-drill before �xing screws.

11

11

11

80mm 
screwPre drill 

hole




���������������������������������������������������������������������������

������������������������������������
���

Rails.
Step 11
Parts Needed - No. 7, 8 or 9.

Before assembling please decide 
where you want your rails to be 
positioned. 

Locate the Rail (No.7, 8 or 9) �ush 
up to the inside edge of the 
corner post next to where you 
want the panel to sit. 

Ensure the panel is positioned 
centrally to the posts and is �ush 
to the inside face. Position the 
panel at a height that is suitable 
for you.

For the Vertical strip rail (No. 9) 
secure in place using 4x80mm 
screws per side, screwing through 
the rail strips at an angle into the 
post behind, as shown.

For the Horizontal strip rail (No.8) 
secure in place using 4x80mm 
screws per side, screwing through 
the rail framing at an angle into 
the post behind as shown.

For the Framed Rail (No.7) secure 
in place using 4x80mm screws per 
side, screwing through the rail 
framing at an angle into the post 
behind as shown.

If you have multiple rails, use the 
same method to locate and 
secure them in place.  

8x80mm screws per rail. 

IMPORTANT: Pre-drill before �xing screws.

9

8

7

80mm 
screwPre drill 

hole

9

7

8

It is ESSENTIAL that you apply wood 
treatment immediately after the product 

has been assembled.

��������������������
Want to share your experience with us? 
Leave us a review on Feefo, TrustPilot or Google.

Your reviews help other people �nd and trust our 
business, as well as helping to play an important role 
in our growth and improvement! 



������������������������������������
���

�����������������
���
�����������������������������������������������������������������
����������������
���������������������������������������������������������������������������
����������������

	�����������������������
�������������������������������������������


�������� ���� ������ ��� �������� ����� ���� ������� ��� ���������������� ��� ���� ������
��������������������������������


������� �� ���� ���� ��� ������ ����� ������� �������
� ��� ������� ��������� ������� �����
��������������������
���������������
�

������������������������������������������������������������������������������������
��������������������������������������������������������
���������������������������
�
������������������������������������������������������


����������������������������
������������������������������������������
�

�������������������������������������������
���������������������������������
���������
�������������������������������������������������������������
�����������������������


­�����������������������������������������������������������������
�����������������������
�������� ��
� ��������� ������ ������ ��� ��������� ���� ����� ��
�� ����� ���� ������� �����
�������������������������������
����������������������������������������
�������������
���� �������� ����� ��� ��� ��� ����� ����� ���������������� ���� ����� ���� ������ �������� ��������
����������������
�������������������������������������
�

�������������������������������������������������������������������������������������������
�������������������������������������������������������������������������
�

����� ����� ���� ��������� ���������� ���� ������ ��� ���� �������� ������ ����������� �������
���������������������������������������������



�	�
�����­������ 	��
�­ ��


������
������������������������������ ���
����
��� ��������������������������������������������������������� �����
�� ���������������������������������������
���
� �����������������������������
�����������������������
������������ �����������������������������������������������������������
�������������������������������������
��������������
�������������������������������������
�����������������������������������������������������������
���������������������������������������
�����������������������������������������������������������������������������������������
�����������������������������������������������


 ���
����������������������������������
���
������������������������������������������������������������������������������
�����������������

��������
�������������������������������������������������������
�����������������
�������������������������������������������������������������������������������
���
�����������������������������


�­��
­�
�	�
��­����	����� 	��
�­ ��
 
���������������������������������������������������������������������������

�

����­­ �
�	�
�	�


���	 ��
	��
��
	�����	����


�	��	�������	�	�
­�
�		�
�	�
�	�
��� 	­�

ANY QUESTIONS?
Scan the QR code to 
contact us via our customer 
portal.

PLEASE SCAN HERE:



������������������������������������
���

�	�­��	� 	 �����
	����	 
���������������������������������������������������������������������������

�����������
���������������������
���������������������������������������������������������������������������������������������
������������������������������������������
���������������������������


�����������������������������������������������������������������������


��������������
��������������������������
���������������������������������������������


��������������


�����������������
���������������������������������������������������������
�

�����������������������������������������������


������������������������¡���������������������������������������


���
�	�	���	������	��­
������	 �­�
�
�	���
���
��
­���­�� ��	�­�	�������� 


��������

��������������������������������������������������������������������������������������������
��������������������
�������������������������������� �����������������
��������������������
��������������������������������������
���������������������������������


������

��������������������������������������������������������������������������������������
����������
������������������������������������������
�����
������������������������������������������������
�����������������


����

���������������������������������������������������������������������������
�������������������
������������������������������������
�

 ��������������

��������������������������������������������������������������������������� ������ ���
����
���������������������������������������������������������������������������������
�������������
�����


­��

��������������¢������
���������������������������������������������������������


��������������

��� �����
����� ������������� ��������������������� ������������ ���������������� ����
�­��� ����
�����������������������������������������������������������
���������������������
������������ �������� ���������� ��� ������ ���������� ���� ������������ ��� ���
���� ��������
������������������������������


����

��� ���������������������
�� ����������������������������������������� ��� ����
�����������
���
���������������������������������������������������������


������

���������������������������������
������������������������������������������������������
�������������������������������������������������������������
���������������������������
�
����������������������������������������������������������������
�

�������
�������������
�������������������������������������������������������������������������
���� ������� ����������
� ���
���� ������ ���� �������� ����� ���������� ���� ����� ������� ����
�������������������������


��������
���

�����������������������������������������������������������������������������
���������������
���������� ������ ���� ������� ����
�� ����� ���� �������
� ������ ���� ������ ��� ����� ����
��
��������������������������
���������
����������������������
�������������������������
����� �������� ���� ������ ��� ��� ������� ����� ��� ���
���� ����
�� ���� ������� ������ ��� ������

�������������������������������


1

2

3

4

5

6

7

8

9



��
���
��	
���	�������

������������
������������
���������
����������

��������������������
���
������������
��
����

������������������������������������
���

�����������������������������������������������������������������

���������������������� ������ ������������ ��� �������������������� ������������
���������������
������������������� ����������������������������
��������������
�������� ��� ���� ������� ����� 
����� ���������� ����� ���
������� ��
�����������
����������������������� ������� ��� ���� ����������� ������� ���������� �������������
�����������
� ��� ���� ����������� ���� ����� ���������� ���� �����
� �� �����
�������������� ���������� ����� ���� ������ ��� �������������������� ������������ ����
� ���������������������������
��

�����������������������
������������������������������������������������������
���������������
�������������
����������������������������������������������������
������� ����
� ��� ���������� ����� ����� ����� ���� ��� ����
�� ���� ����� ��� ����� ���
��������� ����� ���� ����� ��� ���
���� ��������� ������� ���� ��� ����
�� ���� ������
������


 �����������������������������������������������������������������������
���������������������������������������������������������������������������������
����������������������
�����������������������������������������������������
����������������������������������
�����������������������������������������������
����������
�

��� ���
���� ���� ��������� ��� ���������� ��� ���������� ���
���� ���� ����� ���
�������� ��� ����� ��������� ����� ����� ����� ��� ������ ��� ������ ���� ������ ���� ���
���������
� 	�� ����� ��
���� �������� �������� ���� ��� ����� ������ ��� ����� �������
������������������������������������������
������������������������������
�������������
������� ����� ������ ��� ����� ������� ����� ��������� ��� ���������� ������ ���
����������� �������� ��� ����
�� ��� ���� ��� ���
���� ��� ����������� ������ ��� ����
�������������������������������������������������������


�������� ������� ���� ������ �� ���� ���� ������� ������ ������� ���� ������� ��� �����
��������������������������������������������������������������
���������������
� ���������������������������������������������
����������������������������������
�����������������������������������������������������
��

������������������������������������������������������
����������������������������������
����������������
����
����������������
��������������������������������
������������������������������������������
����
��������
����
����������������������������������������������
�����������������������������������������������������


­������������������������������������������������
�������������������������������������������������
��������������������������
������������
��
����

�������
��	�¡���	�­��	� �
�­��

��������������������������������������������
���������������������������
�����������
���������������
���� ��������� ���������������
�	�� ���������������������������
���������������������������������������������£������������������������


�����������������������������������������������������������������������������������
�
�
� ���� ��������� ������� �
������ ���� ������ ��������� �� ���� � � ���� ������ ����
���
�������������������������������������������������


	����������������������������������������������������������������������������
���
���������������������������
�������
������������
�


��������������������������������������������2

�������������������������������������������������������������������������������
��������������������������������������������������������������������������������
�������


	��������������������������
�������������������������������������������������
������������
������������������������������������������


��������������������������������������������������������������1

�¢������������������

����������������������������������������������������������������������������������
����������������������������������������������
����������������������������������
��������������������
����������������������������������������������������


���������������������������������������
���
���������������������������������������
�����
���������������������������������
�����������������

��������� �������� ��������� �� �������� �� ����������� ���������� ��� ���
���� ������
�������

���� ����������������� ������� ������ �� ���� ��������� ���������� ���� �������� ��
������
���
�����������������������������


	�� ����� ���������� ������ �� �������� �������� ��� ���� ������� ���� �������� ��� ����
�������� ��� ����� ��� ��������� ����� ��������� ���� ���������� ��� ������ ����� ����
�������
�

�������� �������
������ ������� ��� �������� ��������� ���� ��������� ��� ������
�����������


3

4 ���������������������������������������������

������������������������������������������������������������������������������
���������������
������������������������������������������
�


���������������������������������������������������������������������������

�������������������������
���������������������������������������������������������
������������������������������������������������
��������������������������������������
�������������������������������������������������
���������
������������������������
�����������������������������������������������������������������������������
�
����������������������������������������������¤



������������������������������������
���

������
���� �������
		�

������������������������������� ������������������ �����������������������������������
���������������������

�������������������������
�����
������������������������������������������������
���
����


����������������������
������������������������������������

�
����������������������������������������������������������������

�
������������������������������������������������������������������

�
��������������������������������������������������������

�
��������������������������������������������������������������������������
��������
����������������������������������
�
�
� � ���� �������� ���� ���� ����� �������� ��������� ��� ��� ���� ���� ���������������
����������������������������������������������������
������������������

�
����������������������������������������������������������������������������������������

¥
� � ���� �������� ���� ���� ����� �������� ��� �� ��������� ��¢��� ����� ������ ������ ��
���
��������������������������������������������������������

�
������������������������������������������������������������������������������������
�������������������������
��������������������������������������������������

¦
��������������������������������������������������������������������������������������
��������������������������������

��
���������������������������
����������������������������������������������������������
������������������
�
��
� � ���� ������� ���� ����� ����� �������� ��� ���������������� ����������� ������������ ���
�����
��������������������


������������¡����������1 2 ������������������

������� ������� ��������� � ��� �� ��� ����� ��������� ���������� ��� ���� ���� �������� ���
��������������������������������������������������������������������
����������������
��
������������������������������������������������������������������
�
��� 
�������� ���� ����������� ���� �������� ����� ��� �������� � ���� ��������� �������
��������������������������������������������������������������������������������
����������������������

��������������������������
�����
������������������������������������������������
���
����


�����������������������
������������������������������������

�
����������������������������������������������������������������

�
������������������������������������������������������������������

�
��������������������������������������������������

�
���������������������������������������������������������������������������
��������
����������������������������������
�
�
� � ���� �������� ���� ���� ����� �������� ��������� ��� ��� ���� ���� ���������������
����������������������������������������������������
������������������

�
� � ���� �������� ���� ���� ����� ��������� ������� ��� ���������� ��� ���� ���� ���������
������������

¥
� � ���� �������� ���� ���� ����� �������� ��� �� ��������� ��¢��� ����� ������ ������ ��
���
��������������������������������������������������������

�
� ���������������������������������������������������������������������������������
������������������
��������������������������������������������������

¦
�������������������������������������������������������������������������������������
��������������������������������

��
� ����������������� ���������
������������������� ���������������������������������
������������������������
�
��
� ����� ������������������������������������������������ ��������������������������
�����
��������������������



���������������������������������������������������������������������������

REGISTER FOR YOUR

ANTI-ROT
GUARANTEE TODAY

PLEASE SCAN HERE:


